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Mathematics (Objective) (Group 1*) Paper (II)
Time Allowed:- 30 minutes PAPER CODE 4197 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Write PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white

correcting fluid is not allowed. ) ) ¥
1) If f(x)=e™", then f'(0)= O@ipakmty-org %o
1 1 P
e ® 3 © 7 ©) =
€ 2

2) Ie"(sin x + cos x)dx=

(A) e*sinx+c (B) e*cosx+c¢ (C) —e*sinx+c (D) —e*cosx+c

dx
3 I x(In2x)*

4 1 @ ® 1
(A) In(In2x)* +¢ (B) (lni") oy (C%@ D) ~ Szt T

4) If f(x)= x? , then range of f is 0%%

° @
(A) [0, @P%%é& (©) 10, (D) R

5) If f(x)==xsecx, then f(7)= O@

o
(A) 7 ( , ©) -7 (D) -2«
6) If y=e™ ,then y
[ d .
(A) ae?™ (B) —ae §i5 O g™ (D) —age™
7) f(x)=4-x* decreases in :he interval
(A) ]—OO, 0[ (B) ]0900[ (C) (_2’2) (D) ("'00!"'00)
8) l > is the derivative of
1+x
@
(A) sin”'x (B) cos'x (C) tan™'x (D) cot™'x
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9) A vector perpendicular to both 27 and k is

@ i & -2; © F (D) 2i+k
10) The angle between the vectors 2i+3j+k and 2§ - j—k is .
(A) 30° (B) 45° (C) 60° (D) 90°
7
11) j sec? x dx=
0
o 1
D m——
A) O B) 1 (©) V2 (D) NG
3
12) [xdx =
®
(A) 20 (B) 40 (C) 60 (D) 80
13) The lines represented by ax+ 2hxy + by* =0 are perpendicular if
(A) a=b (g) a=-b (C) a#b (D) azb
14) The equation of y-axis is
&) x=0 (B) y=0 (C) ¥y= @ (D) x+y=0

15) Slope of the line perpendicular to 3x — 4y+5= Ooi‘&\?? O
-3 ® 3 @ 24 4
(A) — B) ~ C) — D) 7
4 4 @ 3 3

16) The graph of the Inequality y <b is a

(A) Upper half plane (lg) }?alf plane  (C) Right half plane (D) Left half plane
17) Angle Inscribed in a semi is .

N B) & (D) 0

3 < A

18) Equation of normal to the circle x* + y* =25 at point (4, 3) is.

(A) 4x+3y=>5 (B) 4x+3y=125 (C) 4x+3y=0 (8) 3x—-4y=0
19)If c= J65 , =7 and a=4, then eccentricity of hyperbola is

oF ® = © —J-7—63 ©) 2/—?-

20)If P(2.3) and Q(6,-2) are two points in the plane, then vector PO is
(X) 4i-5j B) -4i+5) (C) 4i+5) (D) 8i+j
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Mathematics (Subjective) ( Group 1) (Inter Part—1I)  Paper (II)

Time Allowed: 2.30 hours (Session 2020-22 o 2022-24) Maximum Marks: 80
Section ---------meveneem I

2 Answer briefly any Eight parts from the followings:- 8 x2=16

(i) Define exponential function. (ii) Prove the identity sech’x =1~ tanh®x o@ pakcity.org %o
(iii)  For real valued functions f and defined as : £

f(x)=3x*-2x" , g(x)z%, x %0 Find fog(x) and gof (x)
Vx+h-x
h

(iv) Evaluate the limit by algebraic techniques ’lm’(l)
h—>

s 2 )2
(v) Find by definition, the derivative of x? with respect to ‘x’ (vi) Differentiate with respectto X of (x = ])
x —

(vii) Find % if x> —4xy—5y= 0 (viii) Differentiate with respect to '@" of tan’ Osec’ 8

(ix) Find %}—)- if y=x21In Jx (x) Find y, if y =sin3x
x

(xi) Prove that e**"

=e*{l+h+ r TR }
(xii)  Find interval in which ' /" is increasing or decreasing i Cx%: x}+3x+2,xe(-4,1)
3. Answer briefly any Eight parts from the foll v@f@}- 8 x2=16

(i) Using differentials, find L3 when xy-/r\;(};@ (i) Evaluate J’ 3—cos2x A

dy 1+cos2x

(iii)  Find the area between the x — isO d the curve y =sin 2x from x=0to x =%

dy %
ion secx +tan y:i— =0 (v) Evaluate '_[xcosx dx
X
0

(iv)  Solve the differentia

(vi) Evaluate j x*Inx dx

(viii) Find the point three fifth of the way along the line-segment from A(-5, 8) to B(S, 3).

(ix) Write down an equation of straight line passing through (5, 1) and parallel to line passing through
points (0, -1), (7, -15)

(x) The xy —coordinate axes are translated through point O’ whose coordinates are given in xy —
coordinate system. The coordinates of P are given in XY-coordinate system. Find coordinates of P
in xy —coordinate system, here P(-5, -3), O’(-2, -6).

(xi) Find area of the triangular region whose vertices are A(5, 3),B(-2,2),C@4,2).

(xii) Find an equation of each of the lines represented by 10x? —23xy—5y% =0

P.T.O 1224 - 1224 - 9000
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4.
()
(ii)
(i)
(iv)
(v)
(vi)

(vii)

(viii)
(ix)
(x)
(xi)

(xii)

(xiii)
Note:
3 -(a)

(b)
6 -(a)

(b)

7 ~(a)

(b)
8 -(a)

(b)

9-(a)
(b)
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Answer briefly any Nine parts from the followings:- 9 x2=18
What is an objective function? K
Graph the solution set of 3x -2y > 6 Q% pakcity.org %D

Find centre and radius of circle x* + y* +12x 10y =0

Write an equation of the circle with centre (-3 , 5) and radius 7.
Find the focus and directrix of parabola x? =4(y-1)

Find the focus and vertex of parabola y=6x? -1

Find the foci and vertices of ellipse 9x% + y* =18

Find the eccentricity of hyperbola 25x* =162 = 400

Find the direction cosines of vector v =6i -2 J+k

Find 'a' so that |ai+(a+l)l'+2§|=3

Calculate the projection of g =3i + J—k along b=-2i- J+k

Prove that ax(b+c)+bx(c+a)+cx(a+b)=0

Find the value of &, so that ai + J»> i+ j+3k and 2i+ J —2k are coplaner.

Section -----=---—--- 11

Attempt any three questions. @Q (10 x 3 =30)

Evaluate the limit Zin 200 ZSn€

60 sin’ @ %
If y= \/tanx+-\/tanx+w/tanx+ ........... oo et at 2y - 1)—--sec x

Show that ¥ = X¥ has mlmmul@@ at X = 1
e
o

Evaluate j 5
x*+2x°

7
Evaluate j‘cos“t at
0

Maximize f(x,y)=2x+5y subject to the constraints 2y - x <8 ; x-y<4; x20; y20
Find an equation of a circle of radius ‘a’ and lying in the second quadrant such that it is tangent
to both the axes. T

Prove that the line segments joining the mid points of the sides of a quadrilateral taken in order
form a parallelogram.

Find centre, foci and directrices of the ellipse x* +16x+4y* ~16y+76=0
Find a joint equation of lines through the origin and perpendicular to the lines
-x2—2xytar1ar——y2 =0

1224 -- 1224 -- 9000
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(Inter Part — II) (Session 2020-22 to 2022-24) Sig. of Student -------eeseeeme-
Mathematics (Objective) (Group Z"d) Paper (II)
Time Allowed:- 30 minutes PAPER CODE 4196 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. - The choice which you
think is correct; fill that circle in front of that questlon number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Writt PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white
correcting fluid is not allowed

. Q.1
1) [ina-a"dx= o%pakcny org%o

®
(A) a* +c¢ (C) Ina* +c (D) 2a* +¢
eX
2) | =
O
(A) In|l-€*|+c (B) In|l1+e™|+c (C) In|e* -1]+c (D) Injl-e*|+c
2
3) lim(l+3x)* =
x-0 P
(A) ¢? (B) ¢ (©) ¢ (D) ¢*

4) The perimeter P of a square as a function of its area A is @@
@
(A) P=VA B) P=4Vi (@44 ©) P=Jd

5) If f(x)=cotx then f’(%) -

1 . 1
(X) -4 © 5 D) -7
6) g; [m(ex reh) )=
e ® o _e* e*—-e™” —-e*+e’”
A) = (B) = CO—% D) ———
e —e” e*+e’” ) ~e*+e” e’ +e

7) If y=Sin h™'(x’) then % =

3 _3x2

1 @ 3

8) The derivative of y =sec™ % is

a
& =1 1 -1 y
A) L@ -x*)? B) _ y(a? - x?)? ©) x(a*-x%)? (D) x(a? -x?)"
X
P.T.O 1225 - 1224 - 9000 (3)
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The lines joining the mid points of any two sides of a triangle is always to the third side.
(A) Equal ®) Parallel (C) Perpendicular (D) Base
10)If u and v be any vectors, then uxy is ®
(A) parallel to u and v (B) parallel to u (C) perpendicular to # (D) orthogonal to u
and v
b > X g
11) [ f(x) dx = a@ pakcity.org %‘:
@ ® =« i
(A) J' £(x) dx (B) _ J' f(x) dx ©) [f ()L, (D) f(&)- f(a)
b b
4
12) | x dx=
' ~
(A) O (B) 6 )8 (D) 16
13) The slope of the line 2x+3y—-1=0 is
X 2 2 3 3
e B} = = D) =
-z ®) 3 © -3 ®) 3
14) The lines lying in the same plane are called @

15) If the points (a, 0), (0, b) and (x, y) are coll

[ ]
(A) Collinear (B) Coplanar © o@rent (D) Coincident
i@n

(A) 3;~+%=0 (B)%+%=1%§$@(C)§+%=-1 (3) %+%=1
16) The graph of x+ 2y <6.is o

(X) Open half plane losed half plane  (C) Full plane (D) No any solution
17) The fixed line of the canic is known as .

(A) x-axis (B) y-axis (8) directrix (D) latus rectum

18) The equation a(x” + y*)+2gx+2fy+c =0 represents a circle with centre

. &g _f g f
(A) (-ag , -af) (B)( =, a) () (a,a) (D) (ag, af)

19) Equation of latus rectum of the parabola x* = ~4ay is

@
(A) x=a (B) x=-a (C) y=a (D) y=-a
20) (@a-b)(a+b)=

@) lal? ~|bf B)ya? +|5[ (©) 2(a+b) (D) 0

1225 - 1224 -~ o000 (3)
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80

Mathematics (Subjective) (Group Z"d) (Inter Part — II) Paper (II)
Time Allowed: 2.30 hours (Session 2020-22 to 2022-24) Maximum Marks:
Section ~-----ee=e-e-eeeu |
2 Answer briefly any Eight parts from the followings:- 8 x2=16
3, .2 S - ¢
(i) Evaluate Liml(x 2+xl ] (ii) Define inverse of a function f . C’% pakcity.org %D
x==1 x° - > *
2 )
(iii) Show that x=asecf , y=btand represent the equation of hyperbola — —=5=1
a
(iv) Evaluate Lim(] - l) (V) Find f'(x), if y=x’In x
n—»o n
2 3 .
(vi) Show that cos(x +#k)=cosx—hsinx —Ecosx + E.: sinx + ......
(vii) Determine the interval in which f is decreasing , here f(x)=cosx, xe (:21 ; —72-[-)
If x=ysiny , Find & (ix) Differentiate sin’ P
(viiiy If x=ysiny ,Fin - (ix) Differentiate sin°x w.r.t cos”x
(x) If y=x*+2x?+2, prove that %=4x,/y—l @
; , o o e o dy .. x=at
(xi) Write the Quotient rule for derivative of two fi n8. (xii) Find = ,if
o% dx y=2at
3. Answer briefly any Eight parts i’ro%@llowings:- 8 x2=16
() Find dy and &y of y=\/; x cé@es from 4 to 4.41
3—-cos2x 1
ii) Evaluate | ———= # -1 iii) Evaluate |—— dx
(ii) Evaluate I 17 0052 X (iii) Evaluate jxénx
n
] 3
(i) Evaluate j (¢nx)* dx (v) Evaluate J —73—x—t—1—— dx  (vi) Evaluate I cos’ xsinx dx
x'-x+6 0
(vii) Find the area between x-axis and curve y =sin2x from x=0 f0 x =_73£
(viii) Find ‘h’ such that A(-1, h), B(3, 2) and C(7, 3) are collinear
(ix) Find ‘k’ so that the lines joining A(7, 3) , B(k , -6) and line joining C(-4 , 5) , D(-6 , 4) are
perpendicular.
(x)  Find point of intersection of lines 3x+y+12=0, x+2y—1=0
(xi)  Find equation of lines represented by 20x% +17xy—24* =0
(xii) Find equation of line through (-4 , 7) and parallel to the line 2x-7y+4=0

P.T.O 1226 - 1224 - 9000
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4. Answer briefly any Nine parts from the followings:- .
(i) Graph the solution set of the linear inequality 3x+7y 221 in xy - plane.

(i) Define feasible region and feasible solution.
(iii) Find an equation of the circle with ends of diameter at (-3 , 2) and (5 , -6)

(iv) Find centre and radius of the circle 4x? +4y? —8x+12y-25=0
(V) Find equation of Normal to the circle x?+y? =25 at (5¢co0s8 , 5sinf)
(vi) Write equation of parabola with directrix x=~2 and focus (2, 2).
(vii) Find foci and vertices of the ellipse x2+4y? =16
.(viii) Find equation of Hyperbola with foci (#5,0) and vertex (3,0)
(ix) Find sum of the vectors A8 and CD given A(1,-1),B(2,0), C(-1, 3) and D(-2, 2).
(x) letu=i+2j-k,v=3i-2j+2k , w=5i~j+3k.Find |3v+w|.

9 x2=18

(xi) Find v for which v-i=0,v?j=0,v-k=0.
(xii) Provethat ax(b+c)+bx(c+a)+cx(a+b)=0.
(xiii) Find @ sothat @i+ j,i+ j+3k and 2i+ j— 2k are coplaner.

Section -------anmm- I
Note: Attempt any three questions. (10 x 3 = 30)
3x if x<-2

If f(x)= x2-1 if -D2xxd
>-(@) 3 if x22 @@®
Discuss continuity at x =2 %Q
W+ -1 S

b) Differentiate s %
® i WS
|
6 - Show that ————-dx=én(x&+‘x2)+c here a>0.
@) I va® +x? O

(b) If x=sinf@ , y=sinm@ ow that (l—xz)yz—xyl+m2y=0
7

tegral
. ,,I sinx (2 +sinx)
7%

COsX

7 -(a) Evaluate the definit

(b) Minimize z=2x+y subject to the constraints x+y>3;7x+5y<35 x20; y=>0
8 -(a) Find the equation of the tangent drawn from (~7,-2) to (x+1)® +(y—2)% =26

(b) Using vectors, prove that sin(e ~ 8) =sinacos # —cosasin 8
9 -(a) Find area of region bounded by the triangle whose sides are

Tx-y-10=0,10x+y—-41=0,3x+2y+3=0
(b) Find the centre , foci eccentricity, vertices of ellipse whose equation is o% pa kcity.org %o
X2 +16x+4y* ~16y+76=0 i )

1226 -- 1224 -- 9000
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( Inter Part - II) (Session 2019-21 (o 2021-23) Sig. of Student ---eemmeeeeeeeee
Mathematics (Objective) ( Group 1*) Paper (II)
Time Allowed:- 30 minutes PAPER CODE 4197 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling fwo or more circles will result in zero mark in that question. Writet PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white

correcting fluid is not allowed. Q.1
1) -gx-tan" x=__ O@ pakCity.Org %‘D
B s 15 (© —=— ©) —
1+ x2 1+ x2 V1 + x2 V1 + x?

2) |2 @@G%

0 x2 +9 O
@) 7% ® = %5@)%{\\3/?; ® 7
Po>

3) [secx tanxdx @
(A) tanx+c (B) seplRY & (C) secx+c (D) tan’x+c
4) y=x*+2x-11is n.
(A) Constant (B) Linear (C) Implicit (D) Explicit
5) fof 1(x) is function. :
(A) Constant (B) Identity (C) Even (D) Exponential
6) Value of dy, for y = x? and x changes from 2 to 2.1
(A) 04 . (B) 0.2 (C) 0.1 D) 0
7) f(x)=x"/3, Then f'(8)=
3 2 1
(A) 2 (B) 3 © 3 D) 3
d
o
(A) e3* (B) 3e3* ©) -e_;f. (D) e*
P.T.0 1219 - 1223 - 9000 (4)
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—-(2)-
_ 2 yz

9) Length of transverse axis of T =1
A) 3 (B)6 ©2
10)Ifu=v,, Thenu .y xw =

(A)1 (B)0 (©) -1
11) Length of vector 2i — j — 2kis

(A)0 (B)2 (C)3

x 1
12 I4 —)dx
) [e'tenx+—)
(A) e (B) e +¢ (©) e*tnx +c
&

131 Ilan% dx @
(A) 8nsin%+c (B) sec’%+c %}

14) Mid point of A(1,2) and B (5,4) is %@

(A) (3,3) (B) (2, 1 © (3,2

15) Slope of line joining A(3,1) 7) is
A &

(A) g © %
16) Equation of horizontal line through (3,4)

(A) y=3 (B) y=4 (C) x=3
17)(1,0) is solution of

(A) 2x + 3y 2 3 (B) 2x-3y23 ©2x+y=1
18) Equation of latus rectum of y? = 4x is

(A) y=-2 (B) y=2 (C) x=-2
19) Radius of circle x* + y* +2y=5is

(A) V6 B) V5 €4
20) Foci of elllpse - + y—z =] is o@ pakcﬂy org 9‘9

(A) (£¢,0) (B) (0,%a) (C) (£a,0)

1219 - 1223 - 9000 (4)

(D) 4
(D) «

(D) 4

(D) fnx+c

(D) x+c¢

(D) 2,3)

(D) %

(D) x=4

(D) x—3y =2

D) x=2

(D) 2

(D) (0,b)
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j'ilﬂlemﬂﬁcﬂ (Subjective) ( Group 1*) (Inter Part —II) Paper (II)
Time Allowed: 2.30 hours (Session 2019-21 ¢o 2021-23) Maximum Marks: 80
Section —---=------mmmen I
2. Answer briefly any Eight parts from the followings:- 8 x2=16

(i) Provethe identity cosh? x +sinh? x = cosh 2x 5% pa kCity.Ol'g %ﬂ
(i) Provethat ;;, o =g, ! - )

x—0 2‘\/;

l-cos&

S - dy _
(iv) If y=x* +2x* +2 Prove that —= = 4x\[ly -1

(iii)y  Evaluate %irlr]:

) : 1
) Differentiate x’ +;2— w.r.t .r-—%

(vi) Prove that -g-(a‘) = a” fna by ab-initio method. (vii) Diffe (Inx)* wur.t. x

©

(viii) If y=sin™ E then show that ¥, = x(a® — x?%) BfZJ{@%%d (1 + x)™ in the Maclaurin Series

(x) Determine the intervals in which f is mcleh\éhj;@r decreasing if f(x)=x’ —6x” +9x .

(xi) Define convex region and corner point. @
(xii) Graph the solution region of the foll System of linear inequalities and find the corner points.

2x -3y £ 6 O
2x + 3y < 12
x 2 0
3. Answer briefly any t parts from the followings:- 8 x2=16
(@) If y=+x find & when x changes from 4 to 4.41. (ii) Evaluate _[ (y+1)
iii Evaluate ———-dx (iv) Evaluate [tan™' x dx (v) Evaluate dx
i f Vi-F / I
(vi) Evaluate .[ xvx? -1 dx (vii) Find the area bounded by Cos function from x = Eto x= ;2’3.

(viii) Find magmtude and direction cosines of v =2i+3; - 4k.

(ix) Calculate the projection of a = [, ~1] along b= [-2,-11].
(x) If a+b+c=0 then prove that bxc =cxa. (xi) Find the value of 2ix2j k.

(xii) Provethat u«(vxw)+ve(wxu)+w.(uxy)=3u.(vxw)

P.T.O 1220 -- 1223 - 9000
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4.
(i)
(i)

(iii)
(iv)
)
(vi)

(vii)

(viii)
(ix)
(x)
(xi)

(xii)

(xiii)

Note:
5-(a)
(b)
6 -(a)
(b)
7 -(a)
(b)
8 -(a)
(b)
9 -(a)
(b)
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w=(2) =
Answer briefly any Nine parts from the followings:- 9 x2=18
Show that the points A(-1,2), B(7,5) and C(2,-6) are vertices of a right angle triangle.
Check whether the origin and point (5,-8) lies on same or opposite side of the line 3x+7y+15=0
Find area of the region bounded by the triangle with vertices (a,b+c¢),(a,b —c¢) and (-a,c).
Find k so that the line joining A(7, 3), B(k,-6) and the line joining C(-4,5), D(-6,4) are parallel.
Find equation of line passing through (-8, 5) and having slope undefined.
Find measure of angle between the lines represented by 6x> —19xy+15y* =0
Find the distance of the point P(6,-1) to the line 6x—4y+9=0. 3 : :
: : s : pakcity.org
Find equation of circle with ends of a diameter at (-3,2) and (5,-6). %" .
Write equation of tangent to the circle x* + y? =25 at (4,3).

Find centre and vertex of the Parabola y* =—8(x—3).

Find centre and foci of the ellipse 9x* + y* =18
Find an equation of ellipse with given foci (— 3.3 ,0) and@@es (+6,0).

2 2
Find eccentricity and coordinates of the verti erbola 2—-%_ =1
’ 3%‘5@ i 16 49
Section o mmeennmm 1I
Attempt any three questions. (10 x3=130)

Evaluate Limw (ﬁ?@

6-0  sin’ @

. . X +
leferentlate . —

dx
Find an equation of the perpendicular bisector of the segment joining the points A(3,5) and B (9,8).

Evaluate I g

Find the area between the x —axis and the curve y = v2ax~x? , when a>0
Maximize f(x,y)=x+3y subject to constraints 2x+5y <30, 5x+4 y<20, x20, y20

fnx ;
Show that y = - has maximum value at x =e.
x

iind ;n quuation of the circle passing through A(3,-1), B(0,1) and having centre at
X=3ay-3=0.

Find the focus, vertex and directrix of the parabola x> — 4x —8y +4 = 0,

By using vectors, prove that cos(a + ) = cosacos B —sinasin B.

1220 -- 1223 -- 9000
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Mathematics (Objective) (Group IT) Paper (II)

Time Allowed:- 30 minutes PAPER CODE 4196 Maximum Marks:- 20
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Write PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles

accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white
correcting fluid is not allowed. Q.1

D ;:‘z‘ he= a% pakcity.org %o

(A) fnx+c (B) #nx’ +c (© :;,2-+c (D) :-l+c
x

ix

2) Icosxdx=
0

(A) 0 (B) 1 (C) -1 @ (D) 2
3) x=acosb,y=Db sin@ are parametric equations of @)<S

(A) Circle (B) Parabola %@fﬁpsc (D) Hyperbola
4) If f(x)=+/x* -1 then Domain of f is %5©

(A) (~o0,) (B) [1,) @ (C) [0,) (D) (—o=,-1]U[1,)

1 dy e

5) If y=? then o at x=

) 2 ®)3 | ©5 (D) 4
6) (1+x%) L& (tan™ x + cot™ x) =

dx
2 -3

(A) 2 (B) e ©)o (D) i
7) If f(x+h)=a"" then f'(x)=

(A) @ In(x+h) (B) a’lna (C) a*Inx (D) a**"Ina

8) -gx—(siml" x) =

1 -1 1
R ® T O5F ®

P.T.O 1219A - 1223 - 9000 (3)
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9) If g and b are parallel vectors then axb=

(A) 1 (B) 0 (©)-1 (D) 2
10) If any two vectors of scalar triple product are equal, then its value is
(A)0 B1 (€)2 (D) -1
1) ["““2" c@ pakcity.org %c
4sinx 4 p
(A) sin2x + ¢ (B) 2sin2x + ¢ () —l-sinx v (D) 2sinx + ¢
2
12) j' I .
xVx -1
(A) tan"' x+¢ (B) cosec”'x+¢ (C) sec™' x+c D) sin'x+c¢
13) Slope of line perpendicular to 3x—-4y+k =0 is @C%

(A) -1 (B) 4 © £ D) -4
3 @ 3

14) Distance of line 5x+12y+39=0 from (040}

(A) 3 (B) 5 Go> ©) 13 (D) 39
15) Point [i p ;S] lies in qua O@
7 7
(A) 1 ) II (C) III (D) IV
16) The point (1, 2) satisfies the inequality
(A) x+2y>3 (B) x-2y>3 (C) 3x+2y<3 (D) x+2y<3

17) What is the eccentricity of a point circle x* + y* =0

A) 1 ®) 1 © V2 (D) 0
V2

18) Length of Latus rectum of a parabola 8x* =-32y is

(A) 16 (B) 4 C) -4 (D) 8
19) The end points of the minor axis of the ellipse are called

(A) Foci (B) Vertices (C) Co-vertices (D) Directrices
20) A conic is said to be a hyperbola if

(A) e=0 B)e=1 ©Ce<l (D)e>1

1219A - 1223 - 9000 (3)
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44> warning:- rlease, do not write anything on this question paper except your Roll No.

JAathematics (Subjective)  (Group 2"%) (Inter Part — II) Paper (II)
Time Allowed: 2.30 hours (Session 2019-21 (o 2021-23) Maximum Matks: 80
Section ==—=emecemmeemee. 1
2. Answer briefly any Eight parts from the followings:- 8 x2=16

(i) Evaluate L:m J_ JE (ii) Given f(x)=x>—2x?+4x-1 then find S() and f(1+x)
@ili) If f(x)=2x*+x~—5 then determine Left hand Limit and Right hand Limit at x =1

(iv) Differentiate W.I.t X. W If x=1-¢* and y=3r>-2¢ then find %

2x+1
(vi) Find % if 4x* +2hxy+by* +2gx+2f+c=0

ax -ax

(viip If f(x)= % then find f'(x)  (viii) Find first four derivative of cos(ax + b)

(ix) Expand @ in the Maclaurin’s series. @
(x) Find the extreme values of the function f(x)=3x? g

(xi) Indicate solution region by shading the inequ é%
(xii) Define problem constraints.

7y 221 ,x-y<2

3 Answer briefly any Eight parts f) e i‘ollowmgs:- 8 x2=16

O
(i) Find éy and dy of y=x’ hen x changes from 2 to 1.8

<2
() Evaluate indefinite ; [ %l d6 (iii) Find [sin®x dx

dx siné
i Evaluate | ——— Find de
L .[ x(In2x)’ ™ I 1+cos’@
2
sec” x ’
(vi) Evaluate I 7=-; dx (vii) Find Integral by parts I xlnx dx

(viii) Find OA where AB =[4,-2] and B(-2,5)

(iX)  Write the direction cosine of v = 37 — j + 2k

(x) Find sin@ if |axb|=+185,|al=26 ,|b}=3

(xi)  Calculate the projection of @ =7 — k along ..!g =]+ k

(xii) A force F =7i+4]-3k isappliedatP(1,-2,3). Find its moment about point Q(2, 1, 1)

PT.O  1220A - 1225 . ogog S Pakeity °"99°
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=(2)~
’ Answer briefly any Nine parts from the followings:- 9 x2=18
(i) The points A(-5 ,2) and (5 , -4) are ends of a diameter of a circle. Find its centre and radius.
(ii) Show that A(-3,6),B(3,2),C(6, 0) are collinear points.

4

(iii)  Find the equation of a line of it is perpendicular to line with slope -6 and its y-intercept is =

(iv) Find the distance between parallel lines 2x -5y +13=0,2x-5y+6=0

(v) Find k so that the line joining A(7 , 3) B(k, -6) and the line joining C(-4 , 5) and D(-6 , 4) are
perpendicular.

(vi) Find the equation of a vertical line through (-5, 3)

(vii) Find the lines represented by 2x* +3xy—5y’ =0

(viii) Find the centre and radius of a circle 5x* +5y* +14x+12y-10=0

(ix) Find the length of Tangent drawn from P(-5 , 10) to the circle 5x* +5y* +14x+12y-10=0
(X)  Find vertex and directex of parabola (x —1)* =8(y +2)

(xi) Find the equation of parabola with Focus (2, 5) and direc y=1

(xii) Find Foci and vertices of ellipse 25x* +9y* =225

(xiii) Find the equation of hyperbola centre (0, 0) >, F &, 0) , vertex (4 , 0)
Section - - 11

Note: Attempt any three questions.
5-(a) Evaluate lim tan@ —sind iQf b

6-0  sin’@
: g2 2t

(b) Prove that yff-'-y- +x=0
dx

(10 x 3 = 30)

(i) Find a joint equal

x° —2xytana —
(b) Evaluate _fcosec’x dx
% 5
sec
Evaluat —_—
7 -(a) i J-sin9+cosﬂ

0
(b) Maximize f(x)=2x+5y subjectto the constraints 2y-x<8 , x-y<4,x2>20,y20

2
8-a) If x=a(@-sinf) , y=a(l+cosx), then Show that yzd Y ra=0

dx’

(b) Write an equation of the circle that passes through the points A4, 5), B(-4 , -3),C(8 , -3)
9 -(a) Find equation of ellipse with centre (0 , 0) , symmetric with both the axes and passing through

points (2,3)and (6, 1)

(b) Prove that in any triangle ¢’ = a® +b* —2ab cosC D@ pakcity.org %‘3
1220A -- 1223 -- 9000
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1222 Warning:- Please write your Roll No. in the space provided and sign.  Roll No

(Inter Part — II) (Session 2018-20 to 2020-22) Sig. of Student ----cmmeeeeeeee
Mathematics (Objective) Paper (II)
Time Allowed:- 30 minutes PAPER CODE 4193 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Write PAPER CODE,
which i$ printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white

correcting fluid is not allowed. Q.1

1) [27ax a@ pakcity.org %n

L’n2

2* %
(B) 2"8 5 +c €"2+c D) 2*+¢

2) The range of the function f(x)=+vx*—4 is,
(A) R-(2,2) (@B [0, ®) (c) Setofreal () [-2,2]

numbers
3) Lim <= )
(A) 0 B) 1 O% @%Q D) o
4) %(JEE)= @%SC@
sec’x  (B) c‘x (©) e D) Yseex

1
A
@A) 24/tanx ¥ Jtanx tan x

5) If y =sin/x, then g

""". .

Cos\f- -y . sinv/x cos+/x

(A) Cosvx (B) . - ¥ (S} WP D) 5 s

d| 1
6) — =

d"[%,:]

1 _

@ 5 ®) x (©) tm ® -

d 1
7 Z(coseox}=

(A) %(sinx) (B) %(secx) © %Fcotx) D) -g;(cosecx cot x)
8) [x" dx=

(A) 0 (B) fnx+c C) -x2+c¢c (D) —-énx+c

P.T.O 1213 - 1222- 29000 (2)
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9) The direction cosines of a vector 3j — J+2k are

3 1

=3 1 2 3 1 2 3 =) __gm__:__zq]
(A) [«/ﬁ’ﬁ’\/ﬁ] ®) [Viz’ \/1_4\@_] ©) [ ia’ vTZ’-Jl_tiJ(D)[ Via’ s Via

5 .
10) The sclation of the differential equation E‘l’--:——_-?l is, D@ pa kcuty.org %‘3
e 2 :

ax

(A) y=tan(e*+c) (B y=tan'(¢* +¢). (O) y=tan(e” +c)

1) j‘ cctx_dxz

¢nsinx

(A) £n|.£‘nisinx|!+c (B) {nlsinx|+c (C) £njcotx}-c
12)If a line £ is perpendicular to x -axis, then its inclination is, @
(A) 0° (B) 45° (C) _90@@

13) The equation of the straight linc whose slope is 2 @@%‘tercept Sis,

(A) y=-5x+2 (B) y=5x+2 @%C) y=x+2
i4) The distance of a point P(6 , -1) from @ x4y +9=0is
4 o
(&) 49 (B) 70 © ’g‘ff’
15) The slope of line thro e points (-2,4), (5, 11)1s
(A) 0 (B) 1 (©) 2

16) Point (3 , 2) is not the solution of inequality

(A) x+y>2 (B) 3x+5y>7 ©) 3x+5y<7

17) The focus of the parabola x* =8y is

(A) (0,-2) B)2,0) ©) (2,0
18) The eccentricity of the hyperbola is
(A) e<0 (B)0<ex1 C)e=1
19) The Centre of the circle (x—1)* +(y+3)* =3 is
(A)  (-1,-3) ®B) (-1,3) © (1,-3)
20) Which one of the following is not a unit vector,
(A) [1,0,0] B)[0,1,0] ©[0,0,1]

1213 - 1222 - 20000 (2)

(D) y=tan™*(e* +¢)

(D) €njtanx|+c

(D) 180°

(D) y=2x+5

49
® 74

(D) 3
(D) 3x-Ty<3
(D) (0,2)
(D) e>1
D) (1,3)

D) [1,1,0]
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1222 Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Inter Part —II) Paper (II)
Time Allowed: 2.30 hours (Session 2018-20 to 2020-22) Maximum Marks: 80
Section ——- -1
2. Answer briefly any Eight parts from the followings:- : - 8§ x2=16
() Prove that cosh’x+sin h’x =cosh2x Q@ pakcity.org %‘7

(i) For the real valued function. f(x)=3x’+7, find f'(x)

1-cosd 5 R et % %
(i) Find lim !9_’0 oy (iv) Find }11_11.1(1 ~2h)
) Find the value of m, such that function is continuous at x=3 f(x)= {”:x t ;;
> S
X+ dy dy
pn Ify= , find — Find — = =
iy Hr=> —l = (vii) Fin - i @y 2at
. : =3 2 4 Q - dJ’J
(viii) Differentiate sin” x w.r.t cos°x.  (ix) If , Find =
) If y= a¥: , Find % . (x)If y= {51 +2x), Fmd . (xii) If y =cos(ax +b), Find y,
3. Answer briefly any Eight Q§m the followings:- 8 x2=16
_ dx
i) Evaluate |xvx? ii) Evaluate | ———~
@ I ® '[ \/x 9y WA
(i) Find [tan’x dx (iv) Find J' dx
1+ cos x
3x+1
(v) Evaluate Im (vi) Evaluate J' dx x>a

(vii) Find &y and dy if y=x* -1 when x changes from 3 to 3.02
(viii) Find Ix cosx dx
(iX)  Find the lines represented by the homogeneous equation 2x? +3xy — 5y =0
(x) Find h such that A(-1, h), B(3, 2) and C(7, 3) are collinear.
(xi) Find K so that the line joining A(7, 3), B(K, -6) and the line joining C(-4 , 5) , D(-6 , 4) are parallel.
(xii) Prove that the following lines are concurrent. 3x—4y—3=0, 5x+12y+1=0, 32x + 4y-17=0

P.T.O 1214 - 1222 - 29000
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(i)
(ii)
(iii)
(iv)
)
(vi)
(vii)
(viii)
(ix)
)
(xi)
(xii)
(xiii)
Note:

5 -(a)
(b)

6-(2)
(b)
7 -(a)

(b)

8 -(a)

(b)
9-(a)
()
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Answer briefly any Nine parts from the followings:- 9 x2=18
Graph the solution set of the inequality 2x+ y <6 in xy—plane

Define corner point. c@ pakcity.org %ﬂ
Find an equation of the circle with ends of diameter at (-3 , 2) and (5 , -6) 4 $

Write down equation of the tangent to the circle 3x* +3y* +5x-13y+2=0 , at [l -13{1]

Find the directrix of the parabola x* -4x-8y+4=0

Find an equation of the ellipse with vertices (0, £5) and eccentricity %

2 2
Find vertices and directrices of the hyperbola o]

Find the points of intersection of the conics 3x* ~4y? =12 and 3y? -2x? =7

Find a unit vector in the direction of vector y=2i- j

Find a vector whose magnitude is 4 and is parallel to 2i -3 + 6k

If a=2i+j-k and b=i-j+k. Compute axb

Find a real number «, so that the vectors u = ai + 2a J—k an@ +a j+3k are perpendicular
A force F = 7i+4j-3k isapplied at P(1, -2, 3) Find%ent about the point Q(2,1, 1)

Section -eeems
Attempt any three questions. (10 x3=130)
If @ is measured in radian, then shou@&-—— =¥
)’ w2 L
Show that if ==Ta
ow thal p i "

x+x* -a* ]+c

The three points A(7 , -1) , B(-2, 2) and C(1 , 4) are consecutive vertices of a parallelogram.
Find the fourth vertex.

A :
Evaluate definite integral. j‘ —
s (14+cosx)(2+cos x)

Graph the feasible region of the system of linear inequalties and find the corner points.
x+2y<14;3x+4y<36;2x+y<10;x20; >0

Find the angle measured from the line ¢, to the line £, vhere ¢,: Joining (3,-1)and (5, 7)
¢, : Joining (2 ,4) and (-8 , 2)

Show that the ordinate at any point P of the parabola is a mean proportional between the length
of the latusrectum and the abscissa of P.

Discuss and Sketch the graph of the equation 4x* —8x—y* -2y —-1=0

A force F =4i -3k passes through the point A(2 , -2, 5). Find the moment of force F about
the point B(1, -3, 1).

1214 -- 1222 -- 29000
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1219 Waming:- Please write your Roll No. in the space provided and sign.  Roll No-------eseeneeaen
( Inter Pant —1I) (Session 2015-17 €0 2017-19) Sig. of Student ~-----cevem--om-

Mathematics (Objective) Paper (I1)

Time Allowed:- 30 minutes PAPER CODE 4195 Maximum Marks:- 20

Note:- You have four choices for cach objective type question as A, B, C and DD. The choice which you
think is correct: fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Write PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles

accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white

correcting fluid is not allowed. Q.1 3 . .
% pakcity.org %n

1) ICofx dx equals

(A) tnCosx+c¢ (B) &n Sinx+c¢ (C) —énCosx+c (D) —4&n Sinx+c

2) I-—-——l-——s dx equals

X +2x+
wwle mm{Rhe ©imfEhe o (5
.

3) x=ar’ and y=—2ar arc parametric equations of%ﬁ\%pﬂ%v

(A) y’ = —dax (B) }’2 =4ax %@C) xt = ~4ay (D) ¥ = day
. x-3 @
4) lim o equals O@

q .

N 35 : © V3 (D) 243
5) The derivative of Cot x W.r.t x equals

(A) —Cosec’x (B) Coscc? x (C) —Sec’x (D) Secx
6) If y =/, then f'(x) will be equal to

2 ] =iy 1 &

(A) »— (B) ¥4, ©F & ® 5%
7 % [n(Sinhx)] equals

(A) Cothx (B) tanhx (C) —Cothx tat hx
8) Slope of tangent to the curve x*—y* -12=0 at point (4, 2) will be equal to

(A) 4 ® Y, ©2 ®

P.T.O 1229 —1219- 18000 (3)
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9) Ittwo vectors i~ j+ak and i-2j-3k are perpendicular, then 'a* will be equal to

(A) -2 (B) -3 (C) -1 (D) 1

10) Moment of force F about a point with*gosition vector » will be equal to
(A) Exr (B) rxF (C) dxE (D) £xd

11) ]Cosl dr will be equal to D% pakcnty.org%a
5 + $
(A) 1 B2 ©vu (D)3

12) Area bounded by curve y = f(x) about X -axis from x=a to x=5 is denoted by

A) jx dy (B) Tx dy (©) jy dx (D) f[ y dx
v 1 b a

13)If (4,-2);(-2,4) and (4, 10) are vertices of triangle, theccntroid will be
— )

(A) (-2 H 4) (B) (2 ] 4) (C) 4) (D) ('2 » '4)
14) If the straight lines represented by ax” +2 ho %9& 0 are perpendicular, then
(A) B -ab=0 (B) »? +ab= ©% (C) a+b=0 (D) a-b=0

15) The angle from the line with slope e line with slope 1 will be

*
(A) tan™'(3) ‘ i) (C) Cos'(3) (D) Cos"(% ]
16) Equation of straig passing through (0 , 0) and parallel to the line with slope 2 will be
(A) x“%)’ B) x=y (C) yx—;—x' (D) y=2x

17) A function which is to be maximized or minimized is called
(A) Objective function (B) Optimal function  (C) Constant function (D) Polynomial

function

x2 yz
18) For ellipse — +=5-=1; a”¢” will be equal to
a

(A) ¥*~a’ (B) a*(1-4%) (C)ia? = 5 (D) & + b2
19) The equation of tangent drawn from point (2, 1) to the circle x* + y* =5 cquals,

(A) 2y+x=0 (B) 2y-x=0 (C) 2x-y=0 (D) 2x+y-5=0
20) The co-ordinates of vertex of Parabola x+8-y* +2y=0 will be

(A) 9.1 B)(@.1) ©(@,-N D) (-9,-1)

1229 - 1219 -- 18000
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1219 Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Inter Part - 1) Paper (11}
Time Allowed: 2.30 hours (Session 2015-17 €0 2017-19) Maximum Marks: 80
Section --—--esmmeecneame
- Answer briefly any Eight parts from the followings:- 8§ x2=16
@ fW=Vx+4 Find f(x*+4) C’@i pakcity.org %"
3 x
. ] ; A% b2
(i)  Evaluate g:% (1+3x) (iii) Evaluate Eim =
2 +1 - dy .
(iv) Fmd - 1f . (v) Find e if xy+y*=2
(vi) Differentiate w.r.t x Sin ' V1-x°
oiy Find 2 if y=tn9-x) (viil) Find the extreme value of f(x)=x* - x~2
\'
(ix) Find % if y=5 ™ (x) Find % if y@n@@
» ﬁgo
(xi) Find = if y= \fx+\{_ @0%{\\)\9
(xify Definc point of inflection of a‘ﬁmct
3. Answer briefly any Eight p m the followings:- 8 x2=16
(i) Find &y if y=x*-1
{ x 4
ii) Evaluate |- <x<—
@) I 1+cosx [ Z y/ )
(i51)  Find the approximate increase in the volume of a cube if the length of its each edge
changes from 5 to 5.02
b
(iv) Evaluate IB'H . dx (v) Evaluate jﬁ;—c dx
i) Find vii) Find |xe® dx
(vi) I xfnx (vid I *
(viii) Evaluate Ix’fnx dx
A 2 -3/
(ix) Evaluate ICas: dt (x) Evaluate I(&z”a -e 2 dx
2 0
(xiy  Defline feasible solution.
(xi1)  Graph the solution set of 5x -4y <20

P.T.O 1230 - 1219 - 18000
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1219 Waming:- Please write your Roll No. in the space provided and sign.  Roll No-----msmmomemeneee

( Inter Part - II) (Session 2015-17 (22017-19) Sig. of Student ------eeve-eee-
Mathematics (Objcctive) Paper (1)
Time Allowed:- 30 minutes PAPER CODE 4195 Maximum Marks:- 20

Note:- You have four choices for cach objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Write PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white

correcting fluid is not allowed. Q.1 ; . g
1) JCorx dx cquals c’@ pakCItY'org %"

(A) énCosx+e (B) &n Sinx+c¢ (C) —énCosx+c (D) ~£n Sinx+c

2) jm dx equals @
(A) Zmn-'(i‘i"_'}»c (B) 2um"[x7_]]+c (C) %lan'@);c D) %lan-l[;{%‘_‘_)_* "

3) x=af and y=—2at are paramctric equations

(A) y* =-dax (B) y* = dax @%S ©) * =—ay (D) 2 =4ay
4) tim —2=2— equals @
=} J;-.Ji O
] 1
W 57 = ©) 3 (D) 2v3
5) The derivative of Cot x w.r.t x equals
(A) —Cosec? x (B) Cosec? x (C) - Sec’x (D) Sec?x
6) If y=¢e’™,then f'(x) will be equal to
& L. = 1=
(A) y e (B) ¥ dy (%) g (D) y &

7 —i_— [fn(Sr'n hx)] equals
[

(A) Cothx (B) tanhx (C) —Cothx |y ténhx
8) Slope of tangent to the curve x*—y*—12=0 at point (4, 2) will be equal to
1
(A) 4 ®) Y% ©)2 ® 3
P.T.O 1229 -1219- 18000 (3)
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1218 Warning:- Please write your Roll No. in the space provided and sign.  Roll No

( Inter Part — II) (Session 2014-16 to 2016-18) Sig. of Student ——-eeeeeeeeeee-
Mathematics (Objective) Paper (II)
Time Allowed:- 30 minutes PAPER CODE 4193 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and-D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Writt PAPER CODE,
which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles
accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or white
correcting fluid is not allowed. Q.1

1) [%”:‘E-dxq c@pakciw.org%o

(A) 2log, |Sindx|+c (B) 2 log, | Sinvx|+c (C) log, |Sinvx|+c (D) log,|Sinx|+c

2) The linear function f(x) = ax + b becomes constant if

(A)a=10,b=0 B)a=1,b=0 C)x=1,b=0 D)x=10,b=0

3) If f(x)=-2x+8, then j_rl(-l)= @
9 2 @ 2
® 5 ® 3 L5° ® 2
5\
Alega /

v = S fen g

A xlna B x C x D x l 5

(A) e (B) e (@ (C) a (D) d” log,a
5) If y=¢/™ then f(x)= ,

2 1l & & 1 &

@ 2 = ©) = ® 5%
6) %(Coszx—Sin’x)= |

(A) 2 Cos 2x (B) -2 Cos 2x (C) -2 Sin 2x (D) 2 Sin 2x
7) If f(x)=Tanx then f'(%)=

4 3 V3 V3

(A) 3 (B) 2 ©) > (D) "y
8) J‘HJ‘1 X-dx=

a* axl . ax’ a:

A) log, a e B 2log,a © 2log, e (D) 2log,a
9) If ¢'(x)= f(x) then ¢(x) is called of (%)

(A) Derivative (B) Integral (C) Differential (D) Definite Integral
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10)If a and b are two non zero vectors then angle between g and axb. is always

(A) 0 (B) 30° (C) 90°

11)J'l+x.a§x a@pakcity.org'%o

(A) log, | x|+c

(B) 1+log, | x|+c (©) log, |1+ x| +c

12) Distance of a point P(x,y) from x-axis is
(A) x (B)y © Ixl

13) Centroid of the triangle with vertices A(2,1),B(-1,3),C(-1, -4) is
A G, 1D (B) (0,0) ) 2,2)

14) The line ax + by + ¢ = 0 is parallel to y-axis if @
(A)c=0 (Bya=0

@
15) Equation of a line passing through (-2, 5) hﬁ ope O is

A)y=-5 By=5s A ©x=2
16)x = 0 is not in the solution of ineq =

(A) 2x+3>0 (Byx\+4>0 C)x+5>0
17) Length of the diameter the Circle (x—5)* +(y=3)*=8 is

(A) 64 (B) 16 ©) 242

18) The line y =mx + ¢ will be tangent to the circle x* + y* =a* if

(A) c== ®) c=tai-m* (O c=taVl+m?
) LT
19) Vertices of the Ellipse —+=—=1 are
16 25
(A) (0,%5) (B) (#5,0) ©€) (+4,0)
20)If "a" is the direction angle of a vector, then
(A) O<a<nm (B 0fas<snm C) 0<asr

1235 - 1218 15000 (2)
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(D) 60°

D) x+log, | x| +c¢

D) Iyl

D) (-2,-5)
D) b=0
(D) x=2

(D) 2x+3 <0

D) 442

D) c=+avm* -1

(D) (0,£4)

D) Osa<nx



